N
e/ A@@.%Nﬁi
0.0 77
sl
s ®)


chriserbstoesser
Highlight

https://www.shop.lagunatools.com/HANDLE-HGT-ADJ-SWIVEL-ASSY.
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/PIN-ROLL-3-16-X-1
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-OILLITE-5-8-ID
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CAP-3-PLASTIC-COLUMN-TUBE
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-OILLITE-5-8-ID
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CAP-3-PLASTIC-COLUMN-TUBE
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SKT-HD-SET-SCREW-1-4-20-X-3-8
https://www.shop.lagunatools.com/SKT-HD-SET-SCREW-1-4-20-X-3-8
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SHSS-5-16-18-X-3-8
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SHSS-5-16-18-X-3-8
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SKT-HD-SET-SCREW-1-4-20-X-3-8
https://www.shop.lagunatools.com/SKT-HD-SET-SCREW-1-4-20-X-3-8
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CAP-1-PLASTIC
https://www.shop.lagunatools.com/CAP-1-PLASTIC
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-8-32X3-8-HWH-TCS-23
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/DEPTH-GAGE-POINTER
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/DEPTH-GAGE-RULE-black
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SUPPORT-DRUM-12-BLACK
https://www.shop.lagunatools.com/SUPPORT-DRUM-12-BLACK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SUPPORT-RH-TABLE-12-BLACK
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-5-16-18-HEX
https://www.shop.lagunatools.com/NUT-5-16-18-HEX
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-FLAT-5-16-MDL-22-44
https://www.shop.lagunatools.com/WASHER-FLAT-5-16-MDL-22-44
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SOC-HD-SCR-BRS-TIP-5-16-18-X-3-4
https://www.shop.lagunatools.com/SOC-HD-SCR-BRS-TIP-5-16-18-X-3-4
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SUPPORT-LH-TABLE-12-BLACK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/BRACKET-TABLE-MOUNT
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-3-8-16-FLANGE-LOCK
https://www.shop.lagunatools.com/NUT-3-8-16-FLANGE-LOCK
https://www.shop.lagunatools.com/NUT-3-8-16-FLANGE-LOCK
https://www.shop.lagunatools.com/NUT-3-8-16-FLANGE-LOCK
https://www.shop.lagunatools.com/NUT-3-8-16-FLANGE-LOCK
https://www.shop.lagunatools.com/NUT-3-8-16-FLANGE-LOCK
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-3-8-16-FLANGE-LOCK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-ADJUSMENT-RH
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/GEAR-MITER-with-set-screws
https://www.shop.lagunatools.com/GEAR-MITER-with-set-screws
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/BUSHING-flanged-round
https://www.shop.lagunatools.com/BUSHING-flanged-round
https://www.shop.lagunatools.com/BUSHING-flanged-round
https://www.shop.lagunatools.com/BUSHING-flanged-round
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/TUBE-COLUMN-36
https://www.shop.lagunatools.com/TUBE-COLUMN-36
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/COLLAR-SHAFT-1-2ID
https://www.shop.lagunatools.com/COLLAR-SHAFT-1-2ID
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/MOTOR-MOUNT
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SUPPORT-MOTOR-10-BLACK
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/HEX-HD-BOLT3-8-16-X-1-1-2-G5-MDL22
https://www.shop.lagunatools.com/HEX-HD-BOLT3-8-16-X-1-1-2-G5-MDL22
https://www.shop.lagunatools.com/HEX-HD-BOLT3-8-16-X-1-1-2-G5-MDL22
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/LEG
https://www.shop.lagunatools.com/LEG
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/COLUMN-BASE-MACHINED-BLACK
https://www.shop.lagunatools.com/COLUMN-BASE-MACHINED-BLACK
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/GLIDE-LEG-3-8-16-X-1-1-2
https://www.shop.lagunatools.com/GLIDE-LEG-3-8-16-X-1-1-2
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-3-8-16-HEXMDL22-44-PRO-DRUM-HD
https://www.shop.lagunatools.com/NUT-3-8-16-HEXMDL22-44-PRO-DRUM-HD
https://www.shop.lagunatools.com/NUT-3-8-16-HEXMDL22-44-PRO-DRUM-HD
https://www.shop.lagunatools.com/NUT-3-8-16-HEXMDL22-44-PRO-DRUM-HD
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/BASE-SUPPORT-BRACKET
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CLIP-RETAINING-5-8
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-FOLLOW-LH-SM-PRO25

SUPERMAX STAND ASSEMBLY PARTS LIST

Ref. Description Part Number Qty./
Number SM25x2 Both SM37x2 Unit
Models

1 HEIGHT ADJUSTMENT HANDLE ASSEMBLY 31-0020 1
2 3/16"x1" ROLL PIN 20-0772 1
3 5/8" 1.D. OILITE WASHER 50-3080 2
4 3" PLASTIC COLUMN TUBE CAP 80-4015 2
5 ADIJ. SCREW SUPPORT CASTING 30-1112 3
6 1/4"20x1/2" SOCKET HEAD SET SCREW 10-2804 6
7 5/16"-18x3/8" SOCKET HEAD SET SCREW 10-2903 4
8 PLASTIC CAP 80-4013 3
9 SELF TAPPING SCREW 10-3905 2
10 DEPTH GAUGE POINTER 40-1102 1
11 DEPTH GAUGE SCALE 40-1101 94-1654 1
11 DEPTH GAUGE (NOT SHOWN) 30-1260HR 1
12 DRUM SUPPORT CASTING — SINGLE 30-5106 2
— DUAL 30-5206 2
13 DEPTH LOCK CASTING 30-1112 2
14 INBOARD TABLE SUPPORT CASTING — SINGLE 30-5104 1
— DUAL 30-5204 1
15 5/16"-18 HEX NUT 12-0003 4
16 5/16" SAE WASHER 11-0206 4
17 5/16"-18x3/4" BRASS TIPPED SET SCREW 10-9906 4
18 LOCKING KNOB 81-3132 2
19 OUTBOARD TABLE SUPPORT CASTING — SINGLE 30-5105 1
—DUAL 30-5205 1
20 TABLE MOUNT BRACKET 40-0025 40-4242 2
21 3/8"-16x1" HEX HEAD BOLT 10-0205 18
22 5/16" WROUGHT WASHER 11-9103 37
23 3/8"-16 FLANGE LOCK NUT 12-0209 24
24 INBOARD HEIGHT ADJ. SCREW 30-1212 30-1212HR 1
25 MITER GEAR 20-1101 4
26 1/2" I.D. OILITE BUSHING 50-3107 4
27 COLUMN TUBE 30-1236 2
27 COLUMN TUBE 30-3044 2
28 1/2-13x1/2" SOCKET HEAD SET SCREW 10-8905 2
29 SHAFT COLLAR 1/2" L.D. 20-1103 2
30 TRANSFER ROD 30-1213 30-3117 1
31 MOTOR MOUNT 40-0106 1
32 MOTOR SUPPORT CASTING 30-5107 1
33 3/8"-16x1 1/2" HEX HEAD BOLT 10-9207 9
34 LEG CASTING 30-1102 4
34 LEG CASTING 30-1103 4
35 COLUMN BASE CASTING 30-1101 2
36 LEVELING FEET 20-0655 4
37 3/8"-16 HEX NUT 12-0005 8
38 BASE SUPPORT BRACKET 40-0230 40-4241 1
39 RETAINING RING 20-0752 1
40 OUTBOARD HEIGHT ADJ. SCREW 30-1211 30-1211HR 1



chriserbstoesser
Highlight

https://www.shop.lagunatools.com/HANDLE-HGT-ADJ-SWIVEL-ASSY.
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/PIN-ROLL-3-16-X-1
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-OILLITE-5-8-ID
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CAP-3-PLASTIC-COLUMN-TUBE
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SKT-HD-SET-SCREW-1-4-20-X-3-8
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SHSS-5-16-18-X-3-8
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CAP-1-PLASTIC
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-8-32X3-8-HWH-TCS-23
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/DEPTH-GAGE-POINTER
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/DEPTH-GAGE-RULE-black
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SUPPORT-DRUM-12-BLACK
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SUPPORT-RH-TABLE-12-BLACK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-5-16-18-HEX
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-FLAT-5-16-MDL-22-44
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SOC-HD-SCR-BRS-TIP-5-16-18-X-3-4
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SUPPORT-LH-TABLE-12-BLACK
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/BRACKET-TABLE-MOUNT
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-3-8-16-FLANGE-LOCK
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-ADJUSMENT-RH
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/GEAR-MITER-with-set-screws
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/BUSHING-flanged-round
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/TUBE-COLUMN-36
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/COLLAR-SHAFT-1-2ID
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/MOTOR-MOUNT
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SUPPORT-MOTOR-10-BLACK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/HEX-HD-BOLT3-8-16-X-1-1-2-G5-MDL22
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/LEG
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/COLUMN-BASE-MACHINED-BLACK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/GLIDE-LEG-3-8-16-X-1-1-2
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-3-8-16-HEXMDL22-44-PRO-DRUM-HD
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/BASE-SUPPORT-BRACKET
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CLIP-RETAINING-5-8
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-FOLLOW-LH-SM-PRO25



chriserbstoesser
Highlight

https://www.shop.lagunatools.com/HANDLE-DUST-COVER
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-8x1-2-SELF-TAPPING
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-1-4-INT.-TOOTH-LOCK
https://www.shop.lagunatools.com/WASHER-1-4-INT.-TOOTH-LOCK
https://www.shop.lagunatools.com/WASHER-1-4-INT.-TOOTH-LOCK
https://www.shop.lagunatools.com/WASHER-1-4-INT.-TOOTH-LOCK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/DUST-COVER-MOUNT
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/HINGE-PLATED
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-1-4-20-HEX-RE6514001
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/HEX-HEAD-BOLT-3-8-16-X-1-G5
https://www.shop.lagunatools.com/HEX-HEAD-BOLT-3-8-16-X-1-G5
https://www.shop.lagunatools.com/HEX-HEAD-BOLT-3-8-16-X-1-G5
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-3-8-16-FLANGE-LOCK
https://www.shop.lagunatools.com/NUT-3-8-16-FLANGE-LOCK
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/1-4-28-X-1-4-Set-Screw
https://www.shop.lagunatools.com/1-4-28-X-1-4-Set-Screw
https://www.shop.lagunatools.com/1-4-28-X-1-4-Set-Screw
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-5-16-18-HEX
https://www.shop.lagunatools.com/NUT-5-16-18-HEX
https://www.shop.lagunatools.com/NUT-5-16-18-HEX
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/5-16-Bushing-use-50-3105
https://www.shop.lagunatools.com/5-16-Bushing-use-50-3105
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/FASTENER-ABRASIVE-OUTBOARD-ASSY
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/FHMS-6-32-x-3-8-phillips
https://www.shop.lagunatools.com/FHMS-6-32-x-3-8-phillips
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/DRUM-25-ASSY
https://www.shop.lagunatools.com/DRUM-25-ASSY
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/FASTENER-ABRASIVE-INBOARD-ASSY
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/KEY-STOCK-1-4-X-1-SQ.-MDL-22-44
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-RETAINING
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/PULLEY-5.0-OD-X-1.0-ID-B
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-10-24x3-8-SLOTTED-HEX-HEAD
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/DUST-COVER-25-X-2-SE-BLACK
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-1-4-20x1-2-ROUND-HEAD-MACH
https://www.shop.lagunatools.com/SCREW-1-4-20x1-2-ROUND-HEAD-MACH
https://www.shop.lagunatools.com/SCREW-1-4-20x1-2-ROUND-HEAD-MACH
https://www.shop.lagunatools.com/SCREW-1-4-20x1-2-ROUND-HEAD-MACH
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-1-4-SAE-222
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/5-16-18-X-11-4-G5-MDL22-44
https://www.shop.lagunatools.com/5-16-18-X-11-4-G5-MDL22-44
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-FLAT-5-16-MDL-22-44
https://www.shop.lagunatools.com/WASHER-FLAT-5-16-MDL-22-44
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SPACER-5-16-ID-REAR-DRUM
https://www.shop.lagunatools.com/SPACER-5-16-ID-REAR-DRUM
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/BEARING-1-FLANGE-W-2-SET-SCREWS-
https://www.shop.lagunatools.com/BEARING-1-FLANGE-W-2-SET-SCREWS-
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/OUTBOARD-DRUM-MOUNT-BACKET
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/BEARING-1-FLANGE-W-2-SET-SCREWS-
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SECONDARY-DRUM-ADJ.-KNOB
https://www.shop.lagunatools.com/SECONDARY-DRUM-ADJ.-KNOB
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/5-16-I.D.-SHAFT-COLLAR-WITH-SET-SCREW
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/OUTBOARD-SECONDARY-DRUM-ADJ.-BKT.
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-5-16-SPLIT-LOCK
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SPACER-BRASS-SM-X-2
https://www.shop.lagunatools.com/SPACER-BRASS-SM-X-2
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/OUTBOARD-INDICATOR-NEEDLE
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/INBOARD-INDICATOR-NEEDLE
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/INBOARD-SECONDARY-DRUM-ADJ.-BKT.
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/1-213x2-HEX-HEAD-BOLT
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/1-2-INTERNAL-TOOTH-LOCK-WASHER
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/INBOARD-DRUM-MOUNT-BKT.
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/Nut-Retaining-PF-X2-U.Guard
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/1-2-I.D.-SPACER
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/PULLEY-3.0-OD-X-1-2-ID-IDLER
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-1-2-SPLIT-LOCK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/HHCS-5-16-18-X-1-2G5
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/BELT-GUARD-COVER
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/Screw-Tension-Rollers
https://www.shop.lagunatools.com/Screw-Tension-Rollers
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SPRING-COMPRESSION-TR-SM
https://www.shop.lagunatools.com/SPRING-COMPRESSION-TR-SM
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CARR-SCREW-5-16-18-X-3-4
https://www.shop.lagunatools.com/CARR-SCREW-5-16-18-X-3-4
https://www.shop.lagunatools.com/CARR-SCREW-5-16-18-X-3-4
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-5-16-18-fLANGE-LOCK
chris
Highlight

https://www.shop.lagunatools.com/ROLLER-TENSION-25

SUPERMAX DUAL DRUM HEAD ASSEMBLY PARTS LIST

Ref. Description Part Number Qty./
Number SM25x2 | Both | SM37x2 Unit
Models

1 DUST COVER 40-1525 40-3237 1

2 DUST COVER HANDLE 80-2841 1

3 #8x1/2" SELF TAPPING SCREW 10-3904 2

4 1/4"-20x1/2" ROUND HEAD MACH SCREW 10-3205 8

5 1/4" INTERNAL TOOTH LOCK WASHER 11-0504 8

6 DUST COVER MOUNT 40-0240 40-4243 1

7 HINGE 40-0225 2

8 1/4" SAE WASHER 11-0205 8

9 1/4"-20 HEX NUT 12-0001 8
10 3/8"-16 x1" HEX HEAD BOLTS 10-9205 8
11 5/16" WROUGHT WASHER 11-9103 8
12 3/8"-16 FLANGED LOCK NUT 12-0209 8
13 1/4"-28x1/4" SOCKET HEAD SET SCREW (BEARING) 10-8602 8
14 5/16"-18x1" CARRIAGE HEAD BOLT 10-1204 6
15 5/16"-18x1 1/4" HEX HEAD BOLT 10-9106 2
16 5/16" SAE WASHER 11-0206 10
17 5/16" 1.D. SPACER 30-1305 2
18 DRUM BEARING 50-3067 4
19 OUTBOARD DRUM MOUNT BKT. 40-0519 1
20 5/16"-18 HEX NUT 12-0003 8
21 SECONDARY DRUM ADJ. KNOB 80-3135 2
22 5/16" 1.D. SHAFT COLLAR WITH SET SCREW 20-1102 2
23 OUTBOARD SECONDARY DRUM ADJ. BKT. 40-0527 1
24 5/16" LOCK WASHER 11-0010 2
25 OUTBOARD SECONDARY DRUM INDICATOR 95-1659 1
26 BRASS SPACER 30-1303 2
27 3/8" SPRING WASHER 20-1165 2
28 EXTENSION SPRING 20-3210 2
29 1/4" x 1" KEY STOCK 20-0762 2
30 OUTBOARD INDICATOR NEEDLE 40-0531 1
31 OUTBOARD ABRASIVE FASTENER 21-1173 2
32 #6—32x3/8" FLAT HEAD PHILLIPS SCREW 10-3003 4
33 SANDING DRUM 30-1200 30-3100 2
34 INBOARD ABRASIVE TAKEUP FASTENER 21-1172 2
35 INBOARD INDICATOR NEEDLE 40-0530 1
36 INBOARD SECONDARY DRUM INDICATOR 95-1660 1
37 INBOARD SECONDARY DRUM ADIJ. BKT. 40-0526 1
38 1/2"-13x2" HEX HEAD BOLT 10-0407 1
39 1/2" INTERNAL TOOTH LOCK WASHER 11-0508 1
40 INBOARD DRUM MOUNT BKT. 40-0520 1
41 5/16"-18 RETAINING NUT 20-1159 2
42 1/2" 1.D. SPACER 30-1304 1
43 IDLER PULLEY 50-1258 1
44 1/2" SAE WASHER 11-0209 1
45 172" LOCK WASHER 11-0013 1

(Continued on page 44)



chriserbstoesser
Highlight

https://www.shop.lagunatools.com/HANDLE-DUST-COVER
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-8x1-2-SELF-TAPPING
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-1-4-INT.-TOOTH-LOCK
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/DUST-COVER-MOUNT
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/HINGE-PLATED
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-1-4-20-HEX-RE6514001
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/HEX-HEAD-BOLT-3-8-16-X-1-G5
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-3-8-16-FLANGE-LOCK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/1-4-28-X-1-4-Set-Screw
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-5-16-18-HEX
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/FASTENER-ABRASIVE-OUTBOARD-ASSY
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/FHMS-6-32-x-3-8-phillips
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/DRUM-25-ASSY
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/FASTENER-ABRASIVE-INBOARD-ASSY
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/KEY-STOCK-1-4-X-1-SQ.-MDL-22-44
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/DUST-COVER-25-X-2-SE-BLACK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-1-4-20x1-2-ROUND-HEAD-MACH
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-1-4-SAE-222
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/5-16-18-X-11-4-G5-MDL22-44
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-FLAT-5-16-MDL-22-44
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SPACER-5-16-ID-REAR-DRUM
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/BEARING-1-FLANGE-W-2-SET-SCREWS-
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/OUTBOARD-DRUM-MOUNT-BACKET
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SECONDARY-DRUM-ADJ.-KNOB
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/5-16-I.D.-SHAFT-COLLAR-WITH-SET-SCREW
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/OUTBOARD-SECONDARY-DRUM-ADJ.-BKT.
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-5-16-SPLIT-LOCK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SPACER-BRASS-SM-X-2
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-WAVE-3-8-ID
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/OUTBOARD-INDICATOR-NEEDLE
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/INBOARD-INDICATOR-NEEDLE
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/INBOARD-SECONDARY-DRUM-ADJ.-BKT.
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/1-213x2-HEX-HEAD-BOLT
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/1-2-INTERNAL-TOOTH-LOCK-WASHER
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/INBOARD-DRUM-MOUNT-BKT.
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/Nut-Retaining-PF-X2-U.Guard
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/1-2-I.D.-SPACER
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/PULLEY-3.0-OD-X-1-2-ID-IDLER
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-1-2-SPLIT-LOCK

SUPERMAX DUAL DRUM HEAD ASSEMBLY PARTS LisT (Cont'd)

Ref. Description Part Number Qty./
Number SM25x2 Both SM37x2 Unit
Models
46 1/2"-13 HEX NUT 12-0009 1
47 DRIVEN PULLEY 50-0502 2
48 5/16"-18x1/2" HEX HEAD BOLT 10-9101 2
49 BELT GUARD COVER 80-1028 80-1038 1
50 #8-32x1" PHILLIPS FILLISTER HEAD SCREW 10-3107 6
51 COMPRESSION SPRING 20-3268 6
52 5/16"-18x3/4" CARRIAGE HEAD BOLT 10-1203 4
53 #8-32 SQUARE NUT 12-0102 6
54 TENSION ROLLER BASE BKT. 40-0306 2
55 TENSION ROLLER SUSPENSION BKT., RIGHT 40-0302 3
56 TENSION ROLLER SUSPENSION BKT., LEFT 40-0303 3
57 5/16" 1.D. OILITE BUSHING 50-3105 6
58 TENSION ROLLER 30-3051 30-3119 3
59 MIDDLE INNER BELT GUARD 41-1028 1
60 #1024 RETAINING NUT 20-1155 2
61 #10-24x3/8" SLOTTED HEX HEAD SCREW 10-3803 4
62 5/16"-18 FLANGED LOCK NUT 12-0207 6
63 5/16"-18x3/8" SET SCREW (PULLEY) 10-8903 2
64 BELT GUARD PLATE (NOT SHOWN) 41-1010 1
SUPERMAX CONVEYOR & MOTOR PARTS LIST
Ref. Description Part Number Qty./
Number SM25 Both SM37 Unit
Models

1 DRIVEN ROLLER 30-3103 30-3104 1
2 1/2" I.D. SQUARE OILITE BUSHING 50-3109 4
3 TAKEUP SLIDE 40-4108 2
4 5/16" SAE WASHER 11-0206 2
5 5/16"-24 FLANGED NUT 12-0308 6
6 WRENCH 40-0375 2
8 TAKEUP BASE BRACKET 40-4107 2
9 3/8"-16x1" CARRIAGE BOLT 10-1302 16
10 5/16"-24x3" STUD 30-1306 2
11 3/8"-16 NYLON INSERT LOCK NUT 12-8005 4
12 3/8" SPRING WASHER 20-1165 8
13 SIDE RAIL 40-4105 1
14 ROLLER SUPPORT BRACKET 40-4109 1
15 RUBBER COVERED DRIVE ROLLER 30-3106 30-3107 1
16 3/8"-16x3/4" CARRIAGE BOLT 10-1301 4
17 3/8" FLANGED LOCK NUT 12-0209 16
18 CONVEYOR BED 40-4101 40-4201 1
19 SIDE RAIL 40-4106 1

(Continued on page 46)



chriserbstoesser
Highlight

https://www.shop.lagunatools.com/5-16-Bushing-use-50-3105
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-RETAINING
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/PULLEY-5.0-OD-X-1.0-ID-B
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-10-24x3-8-SLOTTED-HEX-HEAD
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-1-2-13-HEX
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/HHCS-5-16-18-X-1-2G5
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/BELT-GUARD-COVER
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/Screw-Tension-Rollers
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SPRING-COMPRESSION-TR-SM
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CARR-SCREW-5-16-18-X-3-4
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-5-16-18-fLANGE-LOCK
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/ROLLER-DRIVEN-HDPF-25
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/BUSHING-OIL-IMP-FLG-1-2-SQUARE
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-FLAT-5-16-MDL-22-44
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-5-16-24-FLANGE-NON-LOCK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WRENCH-CONV-ADJ-SM-SB
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CARR.-SCREW-3-8-16-X-1
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/ROD-HDPF-5-16-24-X-3
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-3-8-16-NYLON-INSERT-LOCK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-WAVE-3-8-ID
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/ROLLER-DRIVE-HDPF-25
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/3-8-16x3-4-CARRIAGE-BOLT
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-3-8-16-FLANGE-LOCK
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CONVEYOR-BED
chris
Highlight

chris
Highlight

https://www.shop.lagunatools.com/ROLLER-TENSION-25



chriserbstoesser
Highlight

https://www.shop.lagunatools.com/ROLLER-DRIVEN-HDPF-25
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/BUSHING-OIL-IMP-FLG-1-2-SQUARE
https://www.shop.lagunatools.com/BUSHING-OIL-IMP-FLG-1-2-SQUARE
https://www.shop.lagunatools.com/BUSHING-OIL-IMP-FLG-1-2-SQUARE
https://www.shop.lagunatools.com/BUSHING-OIL-IMP-FLG-1-2-SQUARE
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-FLAT-5-16-MDL-22-44
https://www.shop.lagunatools.com/WASHER-FLAT-5-16-MDL-22-44
https://www.shop.lagunatools.com/WASHER-FLAT-5-16-MDL-22-44
https://www.shop.lagunatools.com/WASHER-FLAT-5-16-MDL-22-44
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-5-16-24-FLANGE-NON-LOCK
https://www.shop.lagunatools.com/NUT-5-16-24-FLANGE-NON-LOCK
https://www.shop.lagunatools.com/NUT-5-16-24-FLANGE-NON-LOCK
https://www.shop.lagunatools.com/NUT-5-16-24-FLANGE-NON-LOCK
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WRENCH-CONV-ADJ-SM-SB
https://www.shop.lagunatools.com/WRENCH-CONV-ADJ-SM-SB
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CARR.-SCREW-3-8-16-X-1
https://www.shop.lagunatools.com/CARR.-SCREW-3-8-16-X-1
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/ROD-HDPF-5-16-24-X-3
https://www.shop.lagunatools.com/ROD-HDPF-5-16-24-X-3
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-3-8-16-NYLON-INSERT-LOCK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-WAVE-3-8-ID
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/ROLLER-DRIVE-HDPF-25
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/3-8-16x3-4-CARRIAGE-BOLT
https://www.shop.lagunatools.com/3-8-16x3-4-CARRIAGE-BOLT
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-3-8-16-FLANGE-LOCK
https://www.shop.lagunatools.com/NUT-3-8-16-FLANGE-LOCK
https://www.shop.lagunatools.com/NUT-3-8-16-FLANGE-LOCK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CONVEYOR-BED
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-RETAINING
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-10-24x3-8-SLOTTED-HEX-HEAD
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-1-4-20x1-2-ROUND-HEAD-MACH
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SWITCH-BRACKET
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-1-4-20-HEX-RE6514001
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/STRAIN-RELIEF-3-4-CAST
https://www.shop.lagunatools.com/STRAIN-RELIEF-3-4-CAST
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CORD-SET-SINGLE-PHASE-32
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-6-32-X-11-4-PHIL-PAN
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/GEARMOTOR-180-VDC-1-17-HP
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/HHCS-5-16-18-X-1-2G5
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/HOUSING-CONTRLR-SMART-HDWIREDBlk
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/intellisand-CONTROL-board
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-NYLON-INSERT-LOCK-16-32
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/Nut-Retaining-PF-X2-U.Guard
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SHSS-1-4-20-X-1-4-NYLOC
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/COUPLING-SHAFT-HDPF-RE31-3102
chriserbstoesser
Highlight

https://www.amazon.com/Impressive-Whisky-Stones-Gift-Glasses/dp/B07DJ95F3W/ref=sr_1_4?crid=2Z44BKPRZC34F&keywords=whiskey+glass+box&qid=1641495351&s=home-garden&sprefix=whiskey+glass+box%2Cgarden%2C189&sr=1-4
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/MOTOR-5-HP-1-PH-230-V-CONT-DUTY
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/3-8-WROUGHT-WASHER
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-5-16-18-fLANGE-LOCK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/LOWER-INNER-BELT-GUARD
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-RETAINING_2
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/PULLEY-4.45-OD-X-1-1-8-ID-AB
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/KEY-STOCK-1-4-X-1-SQ.-MDL-22-44
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CORD-SET-SINGLE-PHASE-32
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/RETAINING-CLIP
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/BELT-V-BX58-SMX1HD

SUPERMAX CONVEYOR & MOTOR PARTS LiST (Cont’d.)

Ref. Description Part Number Qty./
Number SM25 Both SM37 Unit
Models

20 BOTTOM COVER 40-4116 1
21 #1024 RETAINING NUT 20-1155 2
22 #10-24x3/8" SLOTTED HEX HEAD SCREW 10-3803 2
23 CONTROL BOX BASE BRACKET 40-4115 1
24 1/4"-20x1/2" ROUND HEAD MACH SCREW 10-3205 3
25 SWITCH BRACKET, SINGLE PHASE 40-5005 1
26 SWITCH BOX 72-5400-2 1
27 ON/OFF SWITCH (DRUM), SINGLE PHASE 72-5400-1 1
28 1/4"-20 HEX NUT 12-0001 3
29 LARGE STRAIN RELIEF 72-1404 5
30 CORD SET, SINGLE PHASE 72-5315 1
31 #6-32x1-1/4" PHILLIPS PAN HEAD SCREW 10-3902 2
32 KNOB 72-1270-1 1
33 SMALL STRAIN RELIEF 72-6102 1
35 180-VOLT GEAR MOTOR 71-1171 1
37 5/16"-18x1/2" HEX HEAD BOLT 10-9101 4
38 CONTROL HOUSING 40-5013 1
39 INTELLISAND CONTROLLER, SINGLE PHASE 72-2280 1
40 #6-32 NUT 12-9001 2
41 #6 WASHER 11-0202 2
42 5/16"-18 RETAINING NUT 20-1159 4
43 1/4"-20x1/4" SOCKET HEAD SET SCREW 10-8802 2
44 COUPLING (CONVEYOR) 30-3102 1
45 5/16"-18x3/4" CARRIAGE BOLT 10-1203 4
46 5 H.P. TEFC ELECTRIC MOTOR, SINGLE PHASE 70-0507 1
47 3/8" WROUGHT WASHER 11-0104 2
48 5/16"-18 FLANGED LOCK NUT 12-0207 4
49 LOWER INNER BELT GUARD 40-1000 1
50 #1024 RETAINING NUT 20-1157 2
51 4 1/2" DRIVE PULLEY 50-0450 1
52 1/4"x1" KEY STOCK 20-0762 1
53 5/16"-18x3/8" SOCKET HEAD SET SCREW 10-8903 1
54 CORD SECTION, SINGLE PHASE 72-5315 1
55 RETAINING CLIP 72-6210 1
56 V-BELT- SINGLE DRUM, 25 50-2021 1

— DUAL DRUM, 25” 50-2023 1
56 V-BELT- DUAL DRUM, 37~ 50-2030 1
57 5/16" I.D. THIN WASHER 72-1270-3 1
58 5/16"-32 JAM NUT 72-1270-4 1
59 CONVEYOR BELT (NOT SHOWN) 60-0324 60-0337 1



chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-RETAINING
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-10-24x3-8-SLOTTED-HEX-HEAD
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-1-4-20x1-2-ROUND-HEAD-MACH
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SWITCH-BRACKET
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-1-4-20-HEX-RE6514001
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/STRAIN-RELIEF-3-4-CAST
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CORD-SET-SINGLE-PHASE-32
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-6-32-X-11-4-PHIL-PAN
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/GEARMOTOR-180-VDC-1-17-HP
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/HHCS-5-16-18-X-1-2G5
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/HOUSING-CONTRLR-SMART-HDWIREDBlk
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/intellisand-CONTROL-board
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-NYLON-INSERT-LOCK-16-32
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/Nut-Retaining-PF-X2-U.Guard
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SHSS-1-4-20-X-1-4-NYLOC
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/COUPLING-SHAFT-HDPF-RE31-3102
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CARR-SCREW-5-16-18-X-3-4
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/MOTOR-5-HP-1-PH-230-V-CONT-DUTY
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/3-8-WROUGHT-WASHER
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-5-16-18-fLANGE-LOCK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/LOWER-INNER-BELT-GUARD
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-RETAINING_2
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/PULLEY-4.45-OD-X-1-1-8-ID-AB
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/KEY-STOCK-1-4-X-1-SQ.-MDL-22-44
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CORD-SET-SINGLE-PHASE-32
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/RETAINING-CLIP
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/BELT-V-BX58-SMX1HD
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CONVEYOR-BELT-25-23-x-67-1-2-BLK



